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QUESTION NO: 1

When you add an XML column to a table by using an ALTER TABLE statement, which of the following are TRUE? (Choose
two.)

A. DB2 implicitly creates an XML table space

B. DB2 implicitly creates an AUX table to store the XML data

C. If this is the first XML column you created for the table, DB2 implicitly creates a unique index on the XML column
D. If this is the first XML column you created for the table, DB2 implicitly creates a ROWID column on the base table

E. If this is the first XML column you created for the table, DB2 implicitly creates a BIGINT node
ID column on the base table

ANSWER: AE

QUESTION NO: 2

Which of the following utilities or utility control statements require datasets for execution?
A. LISTDEF

B. OPTIONS

C. TEMPLATE

D. CHECK LOB

ANSWER: A

QUESTION NO: 3

Which types of user-defined data types are supported? (Choose two.)
A. CHAR

B. ARRAY

C. NUMERIC

D. DISTINCT

E. TIMESTAMP
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ANSWER: B D

Explanation:

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK _11.0.0/sqlref/src/tpc/
db2z_userdefineddatatypes.html

QUESTION NO: 4

Which of the following are contained in the PLAN_TABLE? (Choose two.)

A. RUNSTATS recommendations

B. Access to LOB values, which are stored separately from the base table

C. Access to parent or dependent tables needed to enforce referential constraints
D. Whether an index access or table space scan is used for each access to a table

E. The join methods and types that are used, and the order in which DB2 joins the tables
ANSWER: D E

QUESTION NO: 5

Given the following INDEX definition, which attributes apply to this index? (Choose two.)

CREATE UNIQUE INDEX DSNEB10.XDEPBT1
ON DSNEB10.DEPT
(DEBPTNO)
USING VCAT DSNCAT
PIECESIZE 1048576K;
A. The index is partitioned
B. The index data sets are user-managed
C. The index data sets are DB2-managed
D. The index is unique and in ascending order

E. The maximum total size of the index is 1 GB

ANSWER: AB
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QUESTION NO: 6

Which of the following can activate a trigger?
A. Arow is inserted

B. A table or view is created

C. A check constraint is defined

D. A referential constraint is violated

ANSWER: D

Explanation:

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/intro/src/tpc/ db2z_triggers.html

QUESTION NO: 7

Which type of constraint is NOT enforced by DB2 during SQL processing?
A. Check

B. Referential

C. Primary key

D. Informational referential

ANSWER: D

Explanation:

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPGG_9.7.0/
com.ibm.db2.luw.admin.dbobj.doc/doc/c0020149.html

QUESTION NO: 8

You need to add the employee picture to the employee table. Which of the following is the appropriate built-in data type for
storing images?

A.BLOB

B. CLOB

C. DBCLOB

D. VARGRAPHIC
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ANSWER: A

Explanation:

Reference https://www.ibm.com/support/knowledgecenter/en/SSEPEK _12.0.0/sqlref/src/tpc/ db2z_sql_createtable.html

QUESTION NO: 9

Which of the following effectively and efficiently manages priorities of a mixed workload as a result of its tight integration with
DB2 for z/OS?

A. Data Facility Storage Management
B. z/OS Parallel Sysplex Configuration
C. Workload Manager

D. z Systems Processor Resource

ANSWER: B

Explanation:

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK _11.0.0/intro/src/tpc/
db2z_benefitsofdb2zasserver.html

QUESTION NO: 10

Which of the following CREATE TABLE or associated CREATE INDEX options are valid when defining a table with the
PARTITION BY RANGE clause? (Choose two.)

A. MAXPARTITIONS

B. ENDING AT clause on a CREATE INDEX statement for the table
C. MEMBER CLUSTER

D. ENDING AT clause on the CREATE TABLE statement

E. A LOB column specified as a column of the partitioning key

ANSWER: B E
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